Tec Tec

Mo,o Sales@tecmojo.com ; Mo,o Sales@tecmojo.com

Please contact us for any product SUS=IEEmIE]® (Eerationt) Please contact us for any product 806-Tecmojo (8326656)
related concern and questions www.tecmojo.com : related concern and questions www.tecmojo.com

Instruction Manual
Standard Series Wall-Mounted Cabinet

Save These Instructions

This manual contains instructions and warnings that must be followed during the installation and operation of the product described in this
manual. Failure to comply may invalidate the warranty and cause property damage or personal injury.

Thank you for purchasing a Tecmojo product. Please check the product carefully and contact Tecmojo for assistance if any parts are damaged
or missing. Do not attempt to install or use product if it has been damaged. This product contains small items that could be a choking hazard —
keep these items away from children.

For permanent wall mounting, be sure to securely fasten the enclosure to the building structure before operation.

Do not use with equipment that is heavier than the indicated weight capacity for this product. This product is designed to be installed indoors
on wood stud walls, solid concrete walls or brick walls. Make sure that the supporting surface will safely support the weight of the equipment
and all attached hardware and components. It is recommended that installation be performed by a qualified installer. Tecmojo cannot be held
responsible for damage to equipment or personal injury resulting from improper use or installation of product.

Maintenance: we recommend checking on regular basis that the product is secure and safe to use.

Limitations of Liability: In no event will Tecmojo Co. be liable for any damages, whether direct or indirect, special, punitive, incidental or
consequential damages (including, but not limited to, lost profits or revenue, loss of use, lost business opportunities or loss of goodwill) or for
the costs of procuring substitute products, arising out of or in connection with the use of the product, whether such liability arises from any
claim based upon contract, warranty, tort (including negligence), product liability or otherwise, whether or not seller has been advised of the
possibility of such loss or damage. In no event will seller’s total cumulative liability, from all causes of action and all theories of liability, exceed
the total amounts actually paid to seller by customer under the order that gives rise to any liability hereunder.

Specification:
SKU# Capacity(U) Color Height Door Depth Width
11110201 6U Black Glass door
11110201B 6U White 13.8" (350mm) Glass door
11110201C 6U Black Mesh door
11110202 9uU Black Glass door
11110202B 9uU White 19.0" (483mm) Glass door B Y
11110202C 9U Black Mesh door (4152';@ (52510',:1,71)
11110203 12U Black Glass door
11110203B 12U White 24.3" (616mm) Glass door
11110203C 12U Black Mesh door
11110204 15U Black 29.6" (750mm) Glass door
11110205 18U Black 34.8" (883mm) Glass door




Tec . Tec .
Mo,o Sales@tecmojo.com )¢ Mo,o Sales@tecmojo.com
r 806-Tecmojo (8326656)

806-Tecmojo (8326656) : Please contact us for any product

Please contact us for any product
www.tecmojo.com : related concern and questions

related concern and questions

www.tecmojo.com

Step4.

(]

Y v

M6 Butter Head Hex Screws (16)

L Wrench (1)

sZ-—1F] Back Cover N
v

——9 Rack Rail(4)

).\ Top Cover

Front Frame(2) |3

Rack Size: 6U/9U /12U

Front Glass [¢]
Door 10-32 Screws (18)  10-32 Cage Nuts (10)
8] Side Panels (2) »
il
i
mmmu||ﬂml|ﬂHﬂ“ﬂlmmmm
|9 Bottom Panel [l
i
M4 Screws (4)
Step1. Step2. Step5. mounting hole guide Step6. Front door is reversible

A % *

M6 Butter Head Hex Screws(16)

{}.

M4 Screws (4)

A MOJO
//o%///‘?“f I UP Mounting hole drilling template UP
/ ﬂnﬂﬂﬂlmlm m"ﬂﬂm”mn R Instructions for Using the Mounting Hole Drilling Template
ﬂﬂﬂﬂlﬂﬂw ﬂ Placement and Marking: Position the mounting hole drilling template on
m”]ﬂ . the surface where you intend to mount the cabinet. Align it carefully to
ﬂ ensure proper placement, and then, using a pencil or marker, mark the
<} designated spots on the template where you'll be drilling holes. <}
o~
wﬁ

Page2 Page3



